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%𝑐𝑜𝑙𝑜𝑐𝑎𝑙𝑖𝑧𝑎𝑡𝑖𝑜𝑛 =
𝑛. 𝑐𝑜𝑙𝑜𝑐𝑎𝑙𝑖𝑧𝑒𝑑 𝑠𝑝𝑜𝑡𝑠 

𝑛. 𝑀𝑆𝑁𝑠 𝑐𝑜𝑟𝑒𝑠 
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𝑦 = 0.00174 ∙ x − 0.00353
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Equation y = a + b*x
Plot normaized absorb
Weight No Weighting
Intercept -0,00353 ± 0,0019
Slope 0,00174 ± 4,7095
Residual Sum of Squ 1,14142E-4
Pearson's r 0,99781
R-Square (COD) 0,99563
Adj. R-Square 0,9949

AGI-6780 in PBS: calibration curve



𝑦 = 0.00689 ∙ 𝑥 − 0.00988
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AGI-6780 in RPMI: calibration curve

 AGI in RPMI
 linear fit 
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Equation y = a + b*x
Plot normalized absorba
Weight No Weighting
Intercept 0,00988 ± 0,00901
Slope 0,00689 ± 3,92654E
Residual Sum of Squa 0,00123
Pearson's r 0,99357
R-Square (COD) 0,98719
Adj. R-Square 0,98399
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𝟐𝟎 𝝁𝑳

𝟑. 𝟔𝟒 𝝁𝒈

3.64 𝜇𝑔/145 𝑘𝐷𝑎 =
=  𝟐. 𝟓𝟏 ∙ 𝟏𝟎−𝟏𝟏𝐦𝐨𝐥

2.51 ∙ 10−11mol ∙ 3 =
=  𝟕. 𝟓𝟑 ∙ 𝟏𝟎−𝟏𝟏𝐦𝐨𝐥

7.53 ∙ 10−11mol/0.374 mM =
=  𝟎. 𝟐𝟎𝟏 𝝁𝑳

20 𝜇𝐿 −  0.201 𝜇𝐿 =
= 𝟏𝟗. 𝟕𝟗𝟗 𝝁𝑳



𝟔𝟎 𝝁𝑳

𝟑𝟎𝝁𝒈

30 𝜇𝑔/145 𝑘𝐷𝑎 =
=  𝟐. 𝟎𝟔𝟗 ∙ 𝟏𝟎−𝟏𝟎𝐦𝐨𝐥

2.069 ∙ 10−10mol ∙ 3 =
=  𝟔. 𝟐𝟎𝟕 ∙ 𝟏𝟎−𝟏𝟎𝐦𝐨𝐥

6.207 ∙ 10−10mol/0.374 mM =
=  𝟏. 𝟔𝟓𝟗 𝝁𝑳

60 𝜇𝐿 −  1.659 𝜇𝐿 =
= 𝟓𝟖, 𝟑𝟒 𝝁𝑳
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